

# A quote for your consideration

Based on your business needs, we put the following quote together to help with your purchase decision. Below is a detailed summary of the quote we've created to help you with your purchase decision.

To proceed with this quote, you may respond to this email, order online through your **Premier page**.

 Quote No.
 3000197132132.1

 Total
 \$925,922.68

 Customer #
 144516615

 Quoted On
 Dec. 08, 2025

 Expires by
 Dec. 31, 2025

Contract Name County of Riverside LSP Agreement for Microsoft

Contract Code C000001244547

Customer Agreement # ITARC-00934 / 8084445

Sales Rep Alex Gutierrez

Phone 1(800) 4563355, 6179809
Email Alex.Gutierrez@dell.com
ACCOUNTS PAYABLE
HUMBOLDT COUNTY

825 5TH ST RM 112

EUREKA, CA 95501

### Message from your Sales Rep

Please use the Order button to securely place the order with your preferred payment method online. You may contact your Dell sales team if you have any questions. Thank you for shopping with Dell.

Regards, Alex Gutierrez

# **Shipping Group**

**Shipping To** 

JEFF GLAVICH HUMBOLDT COUNTY INFORMATION TECHNOLOGY 839 4TH ST EUREKA, CA 95501 (707) 268-2543

#### **Shipping Method**

Standard Delivery

	Quantity	Unit Price	Subtotal
MICROSOFT SLG EA 6.0 - TBD JLO			
1. VLA ENTERPRISE SQL SERVER ENT SA PER 2 CORE LIC ALL LANGUAGES	2	\$2,539.93	\$5,079.86
2. VLA ENTERPRISE WINSVRDCCORE ALNG SA MVL 16LIC CORELIC	6	\$1,137.43	\$6,824.58
3. VLA ENTERPRISE CORECAL BRIDGE OFF365 SUBLIC PER USR ALL LNG	1000	\$20.59	\$20,590.00
4. VLA ENTERPRISE ENT MOBANDSEC E3 GCC SHARED ALNG MONTHLYSUB ADDON TO USR CR CAL	5	\$105.58	\$527.90

		Subtotal: Shipping: Non-Taxable Amount:		\$925,922.68 \$0.00 \$925,922.68
20	VLA ENTERPRISE AUDIO CONFERENCING SELECT DIAL OUT GCC SUB	2227	\$0.00	\$0.00
19	. VLA ENTERPRISE POWERBIPROGOV SHRDSVR ALNG SUBSVL MVL	16	\$102.59	\$1,641.44
18	. VLA ENTERPRISE PWRBIPREMP1GCC SHRDSVR ALNG SUBSVL MVL	1	\$46,628.52	\$46,628.52
	. VLA ENTERPRISE PROJECT P3 GCC SUB PER USER	5	\$279.96	\$1,399.80
16	VLA ENTERPRISE M365G5EDISCOVERY AND AUDITGCC SHRDSVR ALNG SUBSVL MVL ADDON	2	\$56.04	\$112.08
15	. VLA ENTERPRISE M365 F3 GCC UNIFIED SHRDSVR ALNG SUBSVL MVL PERUSR	10	\$85.24	\$852.40
14	. VLA ENTERPRISE INTUNE DEVICE SUBSCRIPTION SHARED ALL LANGS VL MVL PER DEVICE	50	\$20.40	\$1,020.00
13	. VLA ENTERPRISE EXCHANGE ONLINE PLAN G2 SHRDSVR PER USER MONTHLY SUBLIC ALL LANG	50	\$74.63	\$3,731.50
12	. VLA ENTERPRISE EXCHGONLNP1GCC SHRDSVR ALNG SU MVL EXCHGONLNKIOSK SUBLIC MVL	1	\$15.35	\$15.35
11	. VLA ENTERPRISE EXCHANGE ONLINE ARCHIVE G SHRDSVR PER USER SUBLIC ALL LANGS	1	\$28.92	\$28.92
10	. VLA ENTERPRISE AZURE ACTIVE DRCTRY PREMP1GCC SHRDSVR ALNG SUBSVL MVL PERUSR 2	1000	\$56.04	\$56,040.00
9.	VLA ENTERPRISE VISIO ONLN P2 GCC SHRDSVR ALNG SUBSVL MVL PERUSR	40	\$140.03	\$5,601.20
8.	VLA ENTERPRISE M365 COPILOT GCC SUB ADD-ON	1	\$374.40	\$374.40
7.	VLA ENTERPRISE DEFENDER 0365 P1 GCC SUB PER USER	2227	\$18.72	\$41,689.44
6.	VLA ENTERPRISE OFFICE365 G3 SHRDSVR SUBLIC PER USER ALL LANG	1000	\$252.60	\$252,600.00
5.	VLA ENTERPRISE M365 E3 GCC UNIFIED SHRDSVR ALNG SUBSVL MVL PERUSR	1217	\$395.37	\$481,165.29

Special pricing may be available for qualified customers. Please contact your DFS Sales Representative for details.

**Taxable Amount:** 

**Estimated Tax:** 

Total:

\$0.00

\$0.00

\$925,922.68



# **Shipping Group Details**

**Shipping To** 

**Shipping Method** 

JEFF GLAVICH HUMBOLDT COUNTY INFORMATION TECHNOLOGY 839 4TH ST EUREKA, CA 95501 (707) 268-2543 Standard Delivery

			Quantity	Unit Price	Subtotal
MICE	ROSOFT SLG EA 6.0 - TBD JLO				
1.	VLA ENTERPRISE SQL SERVER E	ENT SA PER 2 CORE LIC	2	\$2,539.93	\$5,079.86
	SKU: AD529977 Current Duration: 12	MFG Part #: 7JQ-00343 Total Duration: 36	OLS Purchase Type: Maint. End Date: Dec. 31, 2028		3
2.	VLA ENTERPRISE WINSVRDCCORE ALNG SA MVL		6	\$1,137.43	\$6,824.58
	SKU: AD529981 Current Duration: 12	MFG Part #: 9EA-00273 Total Duration: 36		OLS Purchase Type: Maint. End Date: Dec. 31, 2028	
3.	VLA ENTERPRISE CORECAL BRID USR ALL LNG	DGE OFF365 SUBLIC PER	1000	\$20.59	\$20,590.00
	SKU: AD529982 Current Duration: 12	MFG Part #: AAA-12414 Total Duration: 36		OLS Purchase Type: Maint. End Date: Dec. 31, 2028	
4.	VLA ENTERPRISE ENT MOBANDSEC E3 GCC SHARED ALNG MONTHLYSUB ADDON TO USR CR CAL		5	\$105.58	\$527.90
	SKU: AD529991 Current Duration: 12	MFG Part #: AAD-32907 Total Duration: 36		OLS Purchase Type: Maint. End Date: Dec. 31, 2028	
5.	VLA ENTERPRISE M365 E3 GCC U SUBSVL MVL PERUSR	JNIFIED SHRDSVR ALNG	1217	\$395.37	\$481,165.29
	SKU: AD529992 Current Duration: 12	MFG Part #: AAD-34704 Total Duration: 36		OLS Purchase Type: Maint. End Date: Dec. 31, 2028	
6.	VLA ENTERPRISE OFFICE365 G3 USER ALL LANG	SHRDSVR SUBLIC PER	1000	\$252.60	\$252,600.00
	SKU: AD529993 Current Duration: 12	MFG Part #: AAA-11894 Total Duration: 36	OLS Purchase Type: Maint. End Date: Dec. 31, 2028		
7.	VLA ENTERPRISE DEFENDER 03	65 P1 GCC SUB PER USER	2227	\$18.72	\$41,689.44
	SKU: AD529994 Current Duration: 12	MFG Part #: 3GU-00001 Total Duration: 36	OLS Purchase Type: Maint. End Date: Dec. 31, 2028		
8.	VLA ENTERPRISE M365 COPILOT	GCC SUB ADD-ON	1	\$374.40	\$374.40
	<b>SKU</b> : AD529995	MFG Part #: EP2-24658	OLS Purchase Type:		
	<b>Current Duration:</b> 12	<b>Total Duration:</b> 36	Maint. E	Maint. End Date: Dec. 31, 2028	
9.	VLA ENTERPRISE VISIO ONLN P2 SUBSVL MVL PERUSR	GCC SHRDSVR ALNG	40	\$140.03	\$5,601.20

SKU: AD529996 MFG Part #: P3U-00001 OLS Purchase Type:

Current Duration: 12 Total Duration: 36 Maint. End Date: Dec. 31, 2028

10. VLA ENTERPRISE AZURE ACTIVE DRCTRY PREMP1GCC 1000 \$56.04 \$56,040.00

SHRDSVR ALNG SUBSVL MVL PERUSR 2

SKU: AD529997 MFG Part #: MQM-00001 OLS Purchase Type:

Current Duration: 12 Total Duration: 36 Maint. End Date: Dec. 31, 2028

11. VLA ENTERPRISE EXCHANGE ONLINE ARCHIVE G 1 \$28.92 \$28.92

SHRDSVR PER USER SUBLIC ALL LANGS

SKU: AD529998 MFG Part #: 4ES-00001 OLS Purchase Type:

Current Duration: 12 Total Duration: 36 Maint. End Date: Dec. 31, 2028

12. VLA ENTERPRISE EXCHGONLNP1GCC SHRDSVR ALNG SU 1 \$15.35 \$15.35

MVL EXCHGONLNKIOSK SUBLIC MVL

SKU: AD529999 MFG Part #: 3MS-00002 OLS Purchase Type:

Current Duration: 12 Total Duration: 36 Maint. End Date: Dec. 31, 2028

13. VLA ENTERPRISE EXCHANGE ONLINE PLAN G2 SHRDSVR 50 \$74.63 \$3,731.50

PER USER MONTHLY SUBLIC ALL LANG

SKU: AD530000 MFG Part #: 3NS-00003 OLS Purchase Type:

Current Duration: 12 Total Duration: 36 Maint. End Date: Dec. 31, 2028

14. VLA ENTERPRISE INTUNE DEVICE SUBSCRIPTION SHARED 50 \$20.40 \$1,020.00

ALL LANGS VL MVL PER DEVICE

SKU: AD530001 MFG Part #: NMH-00001 OLS Purchase Type:

Current Duration: 12 Total Duration: 36 Maint. End Date: Dec. 31, 2028

15. VLA ENTERPRISE M365 F3 GCC UNIFIED SHRDSVR ALNG 10 \$85.24 \$852.40

SUBSVL MVL PERUSR

SKU: AD530002 MFG Part #: AAD-63092 OLS Purchase Type:

Current Duration: 12 Total Duration: 36 Maint. End Date: Dec. 31, 2028

16. VLA ENTERPRISE M365G5EDISCOVERY AND AUDITGCC 2 \$56.04 \$112.08

SHRDSVR ALNG SUBSVL MVL ADDON

SKU: AD530003 MFG Part #: 8RI-00005 OLS Purchase Type:

Current Duration: 12 Total Duration: 36 Maint. End Date: Dec. 31, 2028

17. VLA ENTERPRISE PROJECT P3 GCC SUB PER USER 5 \$279.96 \$1,399.80

SKU: AD530004 MFG Part #: 7MS-00001 OLS Purchase Type:

Current Duration: 12 Total Duration: 36 Maint. End Date: Dec. 31, 2028

18. VLA ENTERPRISE PWRBIPREMP1GCC SHRDSVR ALNG 1 \$46,628.52 \$46,628.52

SUBSVL MVL

SKU: AD530005 MFG Part #: HKL-00002 OLS Purchase Type:

Current Duration: 12 Total Duration: 36 Maint. End Date: Dec. 31, 2028

19. VLA ENTERPRISE POWERBIPROGOV SHRDSVR ALNG 16 \$102.59 \$1,641.44

SUBSVL MVL

SKU: AD530006 MFG Part #: DDJ-00001 OLS Purchase Type:

Current Duration: 12 Total Duration: 36 Maint. End Date: Dec. 31, 2028

20. VLA ENTERPRISE AUDIO CONFERENCING SELECT DIAL 2227 \$0.00 \$0.00

**OUT GCC SUB** 

SKU: AD530007 Current Duration: 12 MFG Part #: NYH-00001 Total Duration: 36 OLS Purchase Type:

Maint. End Date: Dec. 31, 2028

## **Important Notes**

#### **Terms of Sale**

This Quote will, if Customer issues a purchase order for the quoted items that is accepted by Supplier, constitute a contract between the entity issuing this Quote ("Supplier") and the entity to whom this Quote was issued ("Customer"). Unless otherwise stated herein, pricing is valid for Fourteen days from the date of this Quote. All products, pricing, and other information is based on the latest information available and is subject to change for any reason, including but not limited to tariffs imposed by government authorities - shortages in materials or resources, increase in the cost of manufacturing or other factors beyond Supplier's reasonable control. Pricing may be adjusted even after an order has been placed if the foregoing changes occur, and Supplier will notify the purchaser of any revisions. Supplier reserves the right to cancel this Quote and Customer purchase orders arising from pricing errors and/or customer changes to Supplier's planned delivery date. Taxes and/or freight charges listed on this Quote are only estimates. The final amounts shall be stated on the relevant invoice. Additional freight charges will be applied if Customer requests expedited shipping. Please indicate any tax exemption status on your purchase order and send your tax exemption certificate to Tax\_Department@dell.com or ARSalesTax@emc.com, as applicable.

Governing Terms: This Quote is subject to: (a) a separate written agreement between Customer or Customer's affiliate and Supplier or a Supplier's affiliate to the extent that it expressly applies to the products and/or services in this Quote or, to the extent there is no such agreement, to the applicable set of Dell's Terms of Sale (available at <a href="https://www.dell.com/oemterms">www.dell.com/oemterms</a>), or for cloud/as-a-Service offerings, the applicable cloud terms of service (identified on the Offer Specific Terms referenced below); and (b) the terms referenced herein (collectively, the "Governing Terms"). Different Governing Terms may apply to different products and services on this Quote. The Governing Terms apply to the exclusion of all terms and conditions incorporated in or referred to in any documentation submitted by Customer to Supplier.

**Supplier Software Licenses and Services Descriptions**: Customer's use of any Supplier software is subject to the license terms accompanying the software, or in the absence of accompanying terms, the applicable terms posted on www.Dell.com/eula. Descriptions and terms for Supplier-branded standard services are stated at www.dell.com/servicecontracts/global or for certain infrastructure products at www.dellemc.com/en-us/customer-services/product-warranty-and-service-descriptions.htm.

Offer-Specific, Third Party and Program Specific Terms: Customer's use of third-party software is subject to the license terms that accompany the software. Certain Supplier-branded and third-party products and services listed on this Quote are subject to additional, specific terms stated on www.dell.com/offeringspecificterms ("Offer Specific Terms").

In case of Resale only: Should Customer procure any products or services for resale, whether on standalone basis or as part of a solution, Customer shall include the applicable software license terms, services terms, and/or offer-specific terms in a written agreement with the enduser and provide written evidence of doing so upon receipt of request from Supplier.

In case of Financing only: If Customer intends to enter into a financing arrangement ("Financing Agreement") for the products and/or services on this Quote with Dell Financial Services LLC or other funding source pre-approved by Supplier ("FS"), Customer may issue its purchase order to Supplier or to FS. If issued to FS, Supplier will fulfill and invoice FS upon confirmation that: (a) FS intends to enter into a Financing Agreement with Customer for this order; and (b) FS agrees to procure these items from Supplier. Notwithstanding the Financing Agreement, Customer's use (and Customer's resale of and the end-user's use) of these items in the order is subject to the applicable governing agreement between Customer and Supplier, except that title shall transfer from Supplier to FS instead of to Customer. If FS notifies Supplier after shipment that Customer is no longer pursuing a Financing Agreement for these items, or if Customer fails to enter into such Financing Agreement within 120 days after shipment by Supplier, Customer shall promptly pay the Supplier invoice amounts directly to Supplier.

Customer represents that this transaction does not involve: (a) use of U.S. Government funds; (b) use by or resale to the U.S. Government; or (c) maintenance and support of the product(s) listed in this document within classified spaces. Customer further represents that this transaction does not require Supplier's compliance with any statute, regulation or information technology standard applicable to a U.S. Government procurement.

For certain products shipped to end users in California, a State Environmental Fee will be applied to Customer's invoice. Supplier encourages customers to dispose of electronic equipment properly.

Electronically linked terms and descriptions are available in hard copy upon request.